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fAMN: ANASA
g

M NS
Chelr XISIN AL 22l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oguwies Ot SEE £ 5,000
OWotItE BZ3AIE Fl 10,000
OZXl sl& Fyl 10,000
OZxl 2F B+ 5,000
ORIIXOIIIE 2F JIsE22 At 10,000
ORZS3XO0IIME A= MAdI| BIIHE A& 20,000
BH2YAYH (NRILSA) 99,115 0 99,115
Jl2Zl(AASA) 70,740 0 70,740
Jl2dUl(A2ASA) 70,740 0 70,740
201 LEr2 Y| 25,000 0 25,000
01 At 2teltl 25,000 0 25,000
OANASA LEt=EH| 15,000
O£ 234 5,000
O = 2| 5,000
202 Odl 38,640 0 38,640
01 = LHA YI 38,640 0 38,640
OANEASH HRFA 0l 12,640
OAHHE=E Ol 26,000
203 ¥ S =&l 3,000 0 3,000
04 EA2IYRFLH| 3,000 0 3,000
ORN2EYRF=AHI 250,000 12& 3,000
405 RHoHF S HI 4,100 0 4,100
01 AL EZFH S 4,100 0 4,100
OAIED] 700
O&EDI 80,000 1504 1,200
OFAX21 21 500
OAMEE 2 Xt 300,000& =4 K 1,200
O=ZgH 500,000 1CH 500
AR AHI(AIASA) 28,375 0 28,375
QAR AL (AAUASH) 28,375 0 28,375
101 14 Hl 28,375 0 28,375
03 RIAHAZ 2T E =+ 28,375 0 28,375
OANBIASH HREX 28,375
lZ2s 1,166,220@ x1H « 123 13,995
a0z 1,166, 220& *400% 4,665
sl 120,000& x1H 122 1,440
&Mz AlH| 130,000 x1H » 128 1,560
AMZte 224
7,4703 *15A1 2t x1 . 5U x1H » 128 2,017
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